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‘ ' ' 4- Sﬁrmg force o=t 58

& , “f’r-— :
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: ",: “Hadll 3,9 =il 98 [action - reaction ] law :

/4/11” the body n‘s equll%bnum [Balance] ZF =. e =5l g gana G () e auaall OIS 1
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i @[stﬁng - wire - rope ] Jaall gl i Lasis @l 0 aill 5
; * If body moves with constant velocity then sun force equal zero }m - 5 gall dals *G.u“ sy
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A s, - sl 4S3T 52 Tadl L
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ULl g Jadll &y Las
Chang'mkkmetlc energy = workdone  4S alldalll i il = dj-‘-wl‘ Jaal
“ Work and gravitational potatinial AU =-W
* The change of potatinial is Negative the work done
- T el gl il s gl gudglf A8l A el

o LS AR L35 AS el Al (i (5 bl il Aiass ilS 13 ; A5 gala
* If the net work done on an object is zero then object's kinetic energy remain the same
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| e = Gl 6 40 = Zal 3Y1 938 o o ZSICAS 13
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Vol eebe Ll = a il ) s (TR = A3l s 1
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; — S _a Aad = 5l Ll Jodll Gl VAL = Ayl 3l calS 13
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r&/ ’Qn conservation force b gina ye Ly It 1s any force for whlch‘tﬁ%gvor done over
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ork total # zero) EX : kinetic fncflon force US all dSia Yl s &8 Tensien force 35
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' * Isolated system J3 s JUss system (No) force make energy change

— ' Al pidps lasidde 22 g Y

— Ve TP T T T 1) i)

; — ‘ .
L K=0 0l V=0 rest ) o= all il (i (e =he jull ) (Stu punll S 131 ; A sl
,I:/ If the Pamcle at the ground level» u-Oym a8l (8 L )Y e g s ga auadl OIS 131 ¥
l'-

IS T TP S N T )

S

Scanned with CamScanner



CH6 , CH5 , CH4 (il 58
5. ’ —
C\é-C:E:Y"‘Har ‘ V|| _,‘ t_)lu:\n J‘ 3_,2.“

u-\t\‘)k +

~s 72

3.6

A ol Weight ool Sy
Kinetic friction SSaa Y1548 () 43
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i 2) 3)P=F.vcos O \Powerb—\ﬂi-ﬂée‘}f

1) W=F.d
«—2) W=F.d

<7 3) W=Ym

M N -;-W'T(VF2 -V o 0 o sy
WP = = P= 2Z———  Averagepower? Y
= 54l F = - ? g 5l Al 4G
".‘ r <

% Hok slaw g sl8 F, = - Kx k=dp ol (N/m)

o=l Jid  Work by spring = % k x* —— Energy of spring

* scalar product (il %-U*ﬂl‘ .B=ABcose o ; |

=1 X.X=y.y=2.2=1 / X.y=X.Z=y.Z- .

: : :' -1 AB :LI"IJB._!Y )(:;I
angle —=( © = cos W 25 .
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|/*v2=vzo+zax
131) Adld -L;f..;_;,g?n:ﬂ i

s L = vt + I/Z;atz «— ( 00 43‘»“‘;‘-’%‘-_9
= . 1] f_'_>

L) Ac e *¥V = final velocity 4lgdc s [m/s]
t= time oo <o FE A

* v, = initial velocity
g bl acceleration m/st o Adssale

. a
- *the object rest Oy sSadll (ya el — *v,=0 e = Ala¥ias cdals Al sl
* the object stop gl B 2y = zero Jio =adgiic dl 5 a=-
A 0 AS_pall ¥k
L v=v,+ gt X e Yuys ady'ﬂ-\egcbel
: Y =vt+ gt
V2 = v, +2gy e G darl
COEYAYAN-Y
maximum heigil-lt thrown up free full >k s s down Ji
EIEEJSU_._nii_;:c.: S el 3B i
- i !
4415—\]‘ ic yull  v=zero :
' _ = Y Do
o= Aty de pudiy g=-9.8 o S N puaall (B8 2 "Cyp t9.8+-—u:.‘.‘-:l-“t_j“.:dlu1ul\ oAl bl s
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’\)q\x F’\}k‘a Lrb\’\ndg \:_,“gzqka@umlJLjﬁlgAﬂmi .
% All of the following is energy type except .
11 [ kinetic - work - potential - @ ] -

f][

PTG B TP
(i 2% What is the grav:tatlonal potentlal energy of 10 kg body 10 m above the floor ?
“ [ 950] - 970.J 980 J - 99017J ]

i

U-w&k lox98X\e = 9b=3 .
i The gravitational potential energy. is 300 J if the mass is 10 kg so the height ofthe . 51°
L body is [ 20m - 30 m - 40m = - ,,y,&,, )
|

e 3s= - 3.
R L L ol 7 Rl
di”* Find the kinetic energy of 400 kg car when its speed is 2 m/s
[ 500] - 600 - 7001 -

L

i - L T

: k"lf\"“\u-:J{’_XL{QOK('L)"saoJ‘__. \ E:
e T'}Lb_) = -‘\3.:;'

!‘ ** Which of the followmg is a correct unit of ene P SO e ]

© [ kgms' - kgm*/s - k@'m /s kg’m /s> - ikg‘mz/szﬂ

' “/)-‘—"1 2 AP

* Which of the following is a correct unit of pmyer
S o - ks ]
/

b) kinetic energy and force

Zﬂpf;; rff} ,;(’p D) none

' A ) kinetic _
% kinetic energy and potentlal energy

* Which of the followmg 1§"é”fcorrect umt work?[ kgm/s® - N O W ]
N & t/)"’" Az oF Y,
{/ ¥ A 100 kg car accelerates ‘fram 0 to 10 m/s in 28 What is the average power delivered by
. the engine (451500 W, o (2500w) - 3500w - 4500w ]
' : G Vi=0 m = 100 V=10 t=2 AN
lm[V; -V L] 5100[10% = 0?]
2 = 2 = 2500 W

t 2

'/-f”‘]’ o

/”‘: The power is defined as ' - :
o\_’JJ\,\[ The work per time ) - the work per distance - the work per mass - none | ¢
('f"ﬁ satid | — — -

E - L&) |
* The force 400 N act on a body for a distance 2m then the work doneis =€~

i [ (800Joule) -  400Joule - 8OO N - None ]
JI_. N'Fd l“oﬂy"l_'-%ﬂuj

(I _L
/IU Y

* What fmwer is needed to lift 2 49 kg person a vertical distance of 5.0 m in 20 0s?

) [ 125w - 60w - 210w - 25w -]

F - th 3 j_g_’_‘_?__é_&i - lew :
R CC RS 25 CEE B R R T B B B b N
R
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is any force for which he work done over any closed path is zero  :

| c!ue ) - fﬁlse ]

x — axis subject to the potential energy U=( x+x+4)J,

[ 3N - 04N & 5N G

— —-----.—_.—.-—--_..---_-
e o i -

g the

* A particle is moving alon

determine the net-force on the particle at X = Sm ;
ST A _(ax+) s -Quas el o0 _
B g ¢ =N
- — - 8- e 5

NEEYYALA, o) L

* A constant force F=(2x+2 y) Nacts on Q?:Rggticle causing a displacement
éekiane by the force ?

Particleby r=(3x+y)m,Whatisthew0r ‘
47 - 21 - 31 - @'] 4

[
Wo Fove (agnd (3xxy) = 618

. ¥ Which of the following is a correct unit of pd@gﬂgjlﬁtla

.’%’?' . U 7 . ;;"5{’,'
n the ground w’%@ﬁo" angl &= 0m to X = 6 m , then the
481 "

O,
(A” 5

-----

L
* A 8 N force pulled a box o
done work by this force equals : [

§-2) Cos b=

¥,

.~ ¥ What is the mechaniggl energy*%fg@ ﬁg
(107 % 1000

E‘]’i K+u‘ e X{ "r'-ux'\’ ’Y""ﬁ»\

8.1 ]
X 1 (o) +(1x95X5): 987

L R T A A
. * In isolated system the total of mieéhmcal energy remains constant [ true - false ]
e

. * Which of the following is a correct unit of a Kinetic energy :
[ J - N - N/m - J.S ]

R o
. B A §t0ne of ( 10 kg ) dropped down from (10 m ) height find the work applied from
gravitational force ? [ 981 - 98J)] - (980] ) - 9800J ]
Wt gih = 12 KkJdX]e~ 98T
- *1fenergy transferred to an object then work positive : [ true - false ]
SO R Napom OO
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A o (' b -. (A
Yy el
* A watt x second is a unit of [ force - power - displacement- speed - ‘energy
_i ‘ P Q ) ]

SRS . P p Iy K
,,/’“ If the net work done on an object is zero then the object s kinetic energy .A

ii ' [' decreases D,,;;%: remains the same increases - iszero ]
o oy 3

I o=, (92-—?‘ ;

1 : 1 -~

..,.-,._'

SN Pty
* The maximum work of the body is happen- when
@e force is parallel to the veloc@ “2-  The force perpendicular to the velocity

G/).D .)‘P/

P The unit of the power in S system is | N - Joule - @~- ng m/s ]

. T a— -
~* Which of the following are"éonservatlon force 2oty KL

[ weight ~- “wspring =v34) grav1tat10nal - all of the above )]
N a4 : : ‘,_;_ W"'E‘-?:::Zz._

‘\5}&)" .J(S' J )
2'/ Which of the fdl'lawmg i non conservation force e =

l- %,,[, tensron = friction - Qand b ) ]
Hszp

l DTG =576

Po* e ergy in the spring is (k= 0. 5 and dlsplacement Scm) : [1.5 joul - 0. 9Joul { non?]
II. E kx:‘(o S)Ca o&):{151‘| J . .a0f
r N~ L.l [t L-l» ’du
;!r/ W'hlch of the followmg is'a scalar quantity [power - work energy- iAll of the above'
et e
c?/"“ e
M‘/ Whlch of the followmg quantlty is a vector quantlty ?1[ mass.work ' ﬁgth ]
; L‘ ) - - c\ c_\) ‘)—j
) L./ * When the angle between force and velocity is 900 the power have
" - = maximum value - minimum value ]
; -
) & When t.he angle between force and dlsplacement is 0° the \_ygyk have
i i, [ 210 ¢maximum value - minimum ]
L '
L * When the angle be‘wveen force and veloc1ty is 0O the power have
% [ zero/"" - - 1nimum value - infinity ]
4 5
i

P
e TR T T N AR T TN TN

s * The grag?}iaatlonaié’potentml energy is : [ (mgh) - m - gh - none |
‘z/’* The law o Jo'onservatlon of energy state that : s ~¥ G

. A) thé¥atal energy of the body change with time

E b. ) the total energy of body is consta@ c ) the total energy is work d) none

2 Ww’\rjrb""r,v' '
* Which of the following could be a power[ ' '5 W east @ - 5m/s - non ]

* 300 watt is 300 kg m /seD 3000 kg m /sec - 300 kg m/sec’ - none]

i
A
!
|

‘

/\.L)\
'f/ * The force on the body is 14 Newton and velocity is 3 m/sec so the power on the body is
[ 42 Joule - 42 Wa - 4200 Watt - none |

P:jfu-,\w;., Y
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* The amount of work required to stop a moving object is equal to the : -

[ velocity of the object - @}Bﬂ%ﬂf the object ) -  mass.of the object
o = > v-_ a i, V

| F ¥ * A 5.0 Kkg cartis moving horizontally at 6.0 m/s In order to change its speed-t6-10.0 m/s
!r the net work done on the cart must be : [ 40 Joule - 90 Joule - 160 Joule - -_"400"Joﬁle]

e B K =l CUSUT) =l xs (09 - 6)7) = 16
O 'L< 1 3]

L * A particle moves S m in the positive x direction while being acted upon-by & constant
ﬁ force 4 N The work done on the part.iclis force is.: | L

<

: [ 20 - 107 - . 301 - impossible” ] .
#ﬁ\’d:F'A:L{H—“ 2 - U "’v
L. ) . . . o, K
| * The force (4i—8j) actona body for a distance —6j.then the work-done is.: % -2
B [ 48joule - 480joule -  800erg - %hone

E“ - : F d = - 8« (): 48T - O | iy
‘.‘ & ;l ‘ = ; : ‘JT.."'&— 1’{’-‘& o -
‘L * How m\uch wo;'k is done when a 75 kg person climbs a flight of stalf$*10 m.highat. .
" ilOSJ _7U7505 - 751 - 750001

) constant speed
?b‘-—_,_,": u:mak:q‘nggXIo: ?355_—7- ,

% 1.a* 2 s
=y Na -amioe g u Sy ~ S

cﬁonF, =25 N find the work by the particle

. * particle of mass m to a force acting X — dire
moves fromX=0to X= 6m

-

] . WeE.d = 25(6-0) = 150 J . :d=d
3 . > e i 5

A IV =-X+ 2y F=2X%y thenpoweris: [ 83 - '8__@- 5W]
= y Pra=F .V = -2 + 10 =8W _LI/ — . dal

: * The total mechanical.energy ofa slystem ':;“.‘E(M CE:-CLC:U"*V oY
L A)is equally divided betweep kinetic energy and potential energy
. B) iseither all ku@%ﬁc endgy or all potential energy at any one instant

L C ) can neve%be"’ﬁ“’e"ga(_tive h D‘i:is constant only if conservative forces act
I y o, =

& ks SRR s e
L * aforce gp a partigle is conservative if : opsezl) 2y)

|

poA ) its war kgguaf‘éaﬁle change in the kinetic energy
;'.

B ) it obey#biewton's second law ¢ )(its work depends is zero oy

\ li M T e

iw:p % . i .:.
1‘]!M\“‘ In the vector product the value of i.i s [ O - @ -2 .~ .3+ -none |

. * In the vector product the value of i s [@ -1 - & =3 = rio"ne]

O B o

A=

1}] ¥ In the vector product the value of i.k is [ (0 -1 - 2 = 3 k none ]
K:L * If the angle between two vectors a and b is 0° then the ;;-c;;ar prodﬁct of them 1s Jo1s
: (o - 1 - a.b) - 116 - none ]‘,/;_:’j\//{d)
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Q) \g"’ “1’ o2 C\,l)’x_)"‘ N do
* The fiction force is a conservative force [ true ) ]
* As defined in physics, work is :

b
b R AT TEFATS T
i * An object * § gravitational potential energy is directly related to all of the following

\1'#- EXCEPT [Its height - Its mass -(Its speej) ) - Acceleration due to gravity ]
r \ pra) .
I (,—"'\-\J uﬁ -

I‘/ﬁm 3x+4yandB 5x+ 6y find A.B?2- [ - 45 - (39)- 14%3,,&

|

|

l

; |
[ ascalar quantity - always a posmve quantity - a vector quantity - always zero ] 1
]

!

|

|

|

|

3 LT e ‘ . % ;

: 2 T e

|, * If Khaled exerts a force of 600 N to walk 50 m up a flight of stalrs 1n 10 s, ﬁww much
power does the use ? [ 30000 W - 3000 W ' BW ]

- - 5o . "
P . F;_"—A* = 6__.:—-TX—-—""' ~ '3 eca
oJ A = RV e JA,,-(p :
* The energy of motion is called[| kinetic energy potentlal energy- thermal energy- wor ]

SV Ve B R bR e R AR Vs R

TR T N T N T T TSR N

: b AT b 4
* An object's kinetically energy is dlrectly re"fated to all of the following
[ Itsheight - Acceleration due to grav1ty - distance - (!ts mass) | t\k() )

* 1 joule = 1 [ Nm> - kg;mlsA (.3 ( Nm ) - N2m’ ] i

. . -
o s W W i

e T T N

*  * The law of conservation of energy, state that ~
v 1- The total energy of thc“bo.dy change ‘with time
2 The total energy of body is constant 3- The total energy is the work E

1

E [(zero max1mum - constant - infinity ] !
; * No energy tfsﬁiisfer into or the system this is (;u("),)
i [ wgg;z?c., " -ggpower - isolated system - mechontc;z_illenergy ]
s st S—— T
L *If kmetlcénergy 80 j and potcntlal =20 j then mechanics energy is ? ]
] (%60 ] - 100 ] dall E—K+u—so+zo 100 ] !
| 1}

: Z* If the potentlal energy is given by u = -2r" - 3r +5 find the force at distance r=2m

.‘ u= -21’ —3[‘ + 5 LN c\’_‘__)\,tpr)‘qy\p'\)*_/ d;_h .

. F= X _(-4r - 3 )zér + 3 atr = 2m — F=8+3 =(lIN) |

" 7 - '

i * What power where work 80 J and time = 2 sec

: p=" - 8 _4w Ldall
W ! 2 X
an

A0
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When the angle between force and velocity is 180° the power have X

(Vad 35 ¢ [ mini;num value - maximum vale - zero |

. Y30 L S D : X :
¥ ¥ The mechanical energy is vector quantity [ true -  false ] 5
wi-t. f': 3 Vet = P -'-
| YHDIAG ] - Al s Lb i
" * The unit of kinetic energy Is watt [ true -  false ] |
B [ 2. ocds <. - :
. AT Y SIFTIY 5 -

. ¥ Gravitational force is an example of a conservative force [ true - false
, FESTERITES _

* Which of the following is a correct unit %k
[kgm - (N - I

*If A = 3x + 4y, B = 8x + 6y What is the angle betwe
[ 39.4 .
Abc ayyrra-=yb oty L

Bec.! AS
N vy T

~ ¥ The SI unit of force

*mass2 kg and a 1agnitude force body is
[ 3 40 N ]
om0 La= ’___?_,"=2x10=20N:<.HlI

2\ Y 1
. B2 0 3
w* Newton second law of m

"’D product of the body ‘%fangss and - false ]
N S
. * The weight gravitationakforce exerted; [ true - false ]
s 7*’&?7?}[ SRy . . ) X
- * ST unit of Normal force is kg m/s” - kgm/s - /st ]
4 == T I T T
. ¥ Which of the following is an example on a force ~_—r\s, ) *

[ work - energy - velocity - electromagnetic ]

+ A particle is pulled to the left with a force of 30 N and to the left with a force of 15 N the

—

. net force on the particle is
©(4sNiotheleft D~ - 15 N to the right i)
35 N to the left - 51 N to the right ] =0

3 =TI5: SN [ fir K
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* What is the.magmtude of the vector 6 x + 8y ? [4 - 5 - 8 - 10 ]

3 Vé‘-r% S

r : -

,I;/ - The o component of a vector having length of 20 m at an angle of 30° with x axis is

i, equal [6-12--221 -
Q"é\ A 20 S‘ n 3 Al

‘*"’ ¥ Thc x — component of a vector having length of 10 m at an angle of 60° with x axis is
equal ~ L kSy: = 1 - 8 - 3 ] i
ordl= |eCes bz 5 _

i‘
l
b
d»; * What is the: dlrectlon ofavector 3x+6 Y 21 26.9° - (63.4°

"

L 6 ta\p( ( '_") £ tq r“'(._i{-;) & (? ) [f H” i, |
i:_ *.] kg is equal _[ 10'g - 10° g 0°g 10’4% | '
Ii *Agram is¥ [ 100 kg - 1ke @ 10° kg ] i
== ;;u' Ve RPN B
" *The scalar quantmes have only a magmtudq___ [ true - false ]

=5 > — P~ L’) —

>
11/* If an object moves whit constant velocity then 1t is an acceleration is zero | true false ]

. V """""" A= T
A particle moves from rest to 10 m/s find its acceleratlon (in m/s’ ) after 2s ?

[Q - 10 - 3 g, - 7 ]
Voo ls =5 s
€ = e S g T
1/ * Which of the following quantify is 2 basic quantity ? )
[ veloclty e force - - acceleration ]
* Which of the foﬁUng quantlty is a derived quantity ‘?u;/D < W

s “ length - @ - mass - time ]

T g TN

* The Vec%or posn%{l of a parlicle varics in time according to the expression r(t)= 4 x+ 6t’y

=~ in the ve]oﬁﬁi of the particle after 1 s equal to 7 [ 4 - 5 - 8 12)] A
L A
P= lotegy = [2(t)_j 1Y = Vige = | uo_smr‘c/rw—)
I . % The velocity of a partlcle is given with respect to time as'v = € What is the particle’s

) =157 ’ A =, = -

. acceleration at t = 1s N 3 0 e +7 o 2 "] g

' L3t 3 (=8 g (P L L o

e mmmmmmam————————— =S =S oSSSmTToCmTTET

R A particle moves according to the equation : X = £ + 1, Where x is in meters and tisin

Seconds the velocity.at t =25 is:

( 8 m/s - 10m/s . -1.8 m/s - @]

Ve 3t": 3¢u) = (L L/J’PJrf-f’f”‘“—)
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Veloclty of particle moving in space is given by V(t) = (4t x + t} y-8z ) m/s i
What is the magnitude of the acceleration of the particle at t = 1s - #

Gms) - 29mis - lsms - 18m/st ] c,b,’ucg.:/
e L“‘"‘J"t_‘i*-—} L"Y“’f(‘)J q‘_x__f_f_b"—'—?!/v e :
* 80 m/ hr is equal to : f
[ 800cm/hr - - 80 cm/ hr - (8000 cm / hr ) - 80000 cm/hr 1
: Qo avr - 30X|n1 £ ik
}\Y | T - 3300 » _

* The slope of velocity — time graph gives length [ true-

a building 15 glven an initial velocity of 4&mf§$?ralght

which the stone reaches its maxinmu - ;Selght W /d\ .
5408

* A stone thrown from the top of

upward Determine the time at w
[ @ussy - 295 - 2% T

V.Y -
t: %\-ﬂ;‘-{-eﬁS

* Two vectors are given by a=2x* 2y + 32 |
The magnitude vector (b +a)equal: [l - 9. w e

T axl. 4y = V=

Two vectors are given by : a=X +y N pZ2x+2y 4z
The magnitude vector (b — 2a) equal [ 2 b -6 - 8]

@ b-ra- (1)41—1‘j+“l2?) C‘i;( ~29) = V%:‘-‘) 'VL_’:__Lf.---

—

_.-_..-.._-.._..-.-__—___..---.-

e,

4 sec is [ 4m/s - ° .8 m/q @ 22 WS ]

Ve a ff_nj(mfs _____ .
D Ty Khoglf mls i

= —- -\l' -
* A particle startsﬂ.g motlon from rest with constant acceleration of 2 m/s* ﬁnd the

dlSplacementofthepamcle after 3 sec - [- 20m - 4m - 1ﬁ} ]
’V't{'ﬁqt ;o+—Lyz_(§)-9w' S

520 _tw.;.....__- /-— ' e
*A pamﬁz mbve: ﬁom rest with acceleratiom 4m/s find its velocity ( in m/; ) after 2 m ?
o - (- o - 2 |
\] H“+2°*‘f\=ﬁu 6,+L(L*) 1) = |16 DV VIS Y
""""" M‘""t:ri::w:f'“““““ S
* Which of the fnllowmg isa fundamental wnit? [ woo- @ - N - ri/i“]"

p——

* At the maximum height the velocity
zero) - increases - decreases - infimity ]

__.---_--—_...-.-—-_-__.....-_..-——-—— -

————m———

*Aspeedof7mm/p.sisequalto Z00@m/s /- 70 m/s - 7m/s - 0.07m/s ]

RB) F o -3
3 Ay [ Zooem s ..

fﬂA . —_— _ .
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¥ The property of an object at rest is known as

[ mtemeecsr A ;-elc lnertla) - resistance ~Sluggishness
-~
. * The projectile vert1cal acceleraﬂon (ay)is ,
~ : ;
. [ change - constant™ = - ZETO - infinity ]
B e L Ty Q , .
e R S -
* The SI unit of horizontal range [ N - m - m/s - Nm ]
* position r)=2tx + 3ty + t'z What magmtude acceleration at t = 2sec
) . 4 _— U o5 (O e B

. 'V=2x+‘3
a2 =0+0+ 1282

V(48)’

* Compare three SI units kilogram Mllhmeter
[ kilogram - millimeter - seco /ﬂf,

o rest.g, o2y V'
2ot comparable ]

- c—:)
. * Which of the following quantity isa vecto?
[ mass - temperature -

[Accelerau
é/‘ = ] (r/
n of 2.5 m/s® its veloci after
25 m/s - 11m/s ]
Z 9 .
—- Ay 0, .

Lt A=4x+2y+3z,
3 [ 10x + 6y +4z

) (8x+4y+6D— 10x + 2y +4z ]
Az v (‘7'7( Fay “

- $K+YTt b=
__________ -)-‘%-;p_{ ————

. * Ifa net force acts on a particle is zero , then the magnitude of accelera!uon of a particle

“ will be zero ¥ ‘ N rue - false ]
* A force of 20 N moved a particle 3 m in its direction what is the work done by the force
(601D - 90J ; 20 ) . 871 ]
W - -
_________ F j’ 7 ke K Sm I
¥ Which ofthe following is a fundamental unit ? [ W - (m) N - ms ]
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*144m/min2isequalto: [lcm/sz' - 2em/s® -3 cm/s? - @
0}5"" M 9K S 2 Yy

S
V- By g™

',, * If an object moves with constant velocnty then it's a‘acceleration is

| [ positive B Negatlve - Inﬁnlty - (zero\ |
¢ * Which of the followmg could be a dlstance ?[ 4 m west - @ 4m/s west - 4mup ]
(3 \ oA
i o P U ~
. * Which of the following could Ee a speed 9 [100 mu - 100 m/s k. 100 m/s up- 100m]
: vt TaTavyd Vo & I“mm:iu
. * Which of the following could be dlsplacement " uﬁ{‘l!r
“ [20m =T 20m/s A 20mwest - 20 m/s west ] "‘“u
: ‘ o
= * Which of the following could be velocntyLL' 'r’_J | | J, m?‘
" - [20m - 20m/s - 20mwest - 20 m/s west l]f
;.. BHTH 1 2‘, 4
* Which of the followmg quantltles could: spemfy an acceleratlon vector )
. [Sm/s - 5m/s’ downward - Sm/s North - Sm?/s West ]
—i l.
‘y * velocity is defined a . “un,, oo M LD b2y
a- position/ time | % Rate of change of displacement with time
c- Rate of change of velocity with time i |;1 change in position

/* speed is the magnitude of

[ position - - displacement -  Acceleration - ‘none of these ]

. * A vector has _
- a- magmtudenonly e c—b- both magnitude and direction

¢ du‘ecmon only gy kT d- None
‘ﬁ = “'*Px/wjf-
* X The numberjof s:gmﬁcant ﬁgures in 0.00150is [ 3 - 2 - § ] Y
g Uil = /l::{,_tt‘
*s('f'he nuriiber of sn@hlﬁcant figures in 15.00 is [ 3 @ (/{

*Ifa VectorIA 4x+3y What is the magmtude of the vector2A 7 [ 4 -12 — 6 ]
1 A’ "3‘% -6Y -2 W: Jo ‘

- NS d.ub.uu!JLu:du.nCH:} TRy
* The projectlle vertical velocity (V,) is [@ - zero - infinity - constant ]
* After g projectile is fired burizontally near the earth’s surfuce, the horizontal component
its velocity (vy) er i) L) . o

[increases - decreases - first decreases, then increases - remains constant ]

e
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;//{ A particle is thrown with an initial velocity of 50 m /s with ay, angle 30" above the

FLI

Horizontal What is vertical velocity (vy) [10m/s - 25m/s - 43m/s - 25m /s]
Vy = Vosin © = 50sin30 =25m/s  dall Lol Jlf e puall

2,

s y B \Jo bl
Lfa;* A ball is thrown with an initial velocity of 80 m / s with an angle 60° above the horizontal

* What is horizontal velocity (V,) 48! e jull Caual
[ 25ms - 30ms - - 35mis - 40mis ]
A Vx = V0 cos © =80 cos 60 = 40 m/s y dal
_ | | Gty JAuir
, -+ With of the following in the trajectory of the projectile motion aa e _=|[j;h"
e it YA oy (parabol - cirdle )Ml
2 B ’ , .r ‘ ! -t l’ - . ;
-4//* The projectile motion is a = M\‘y/ l‘,_)‘b)_,,_(_l = .~ I'Iﬁih‘;_ ,'i‘l-f
‘ iy A : ; H 41!
= a-one dimensional b-two dimensional c-three dlmgrl}gibnal
, * After a [;I'OJ ectilé is fired horizontally near the earth’s surface, the horizontal component

: & s
The projectile horizontal acceleration (a x) is : '5-i:¢./‘~°ﬁ 1 &
[ change - constant -y E - infinity ]

* Which of the following is correct relation of 'rang

[ rR= K. prR=h _ (Rp= Wsin20) ) R= Visin(20) |
) o g Ry g ' ~ 3g

. ¥ The vertical acceleratior;F !Ef?gmp,rojéfctile at maximum height is : Which of the following
is relation of maxim.urﬁ"Rgnlg Y S [
N ) & V, sin20 ]
2g R

o |

gt

- ‘. o . . . o\ 1
* The Vel;itlj.gg[ acc-:?llﬁratlon for a projectile at maximum height is : Z\‘” N i

. glzro - g - g - infinity ]

"% Whattyill be initial angle (8) to

. ; : A
get the maximum horizontal (R ange) in projectile

. motion [ B =60° --(B= 45“_) - 6=30 - ©e=90" ]
* What will be ;Lr';i‘t'ral angle (§) to get the maximum height (H max) in projectile motion
i [ e=60" - B=45" . e =30° - ©=9" ]
‘..a'/. ------------ - — ——— e e e e e e e e e
%/A gun with initial velocity of 20 m/s shoot a target by angle of 15" then its range(R) is
. “b ; S [@ C 30 m - 25 - noneof them ]
SR IS0 20) Gojsm (uxis)

e B T et — 20 Y

T . @ -
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* A body is thrown with an initial velocity ( Vo = 10 m/s ) What is maximum Range ?

: 2
R max = P = X = 10.2 d=M
g 9.8

* At the maximum height the velocity of a stone thrown vertically
[ (zero)- increases - decreases - infinity |

A ball is thrown with an initial velocity of 100 m/s with an angle 30" above
The horizontal what is the vertical velocity Vy at = 2sec ‘

: [ 104m/s - 204m/s -  304m/s =~ - 4(3"&"21'1% ]
Vy=Vosin@ - gt—10051n30 (98x2)-—,§01‘”/ Jall
Va aLl U\r
« * A boll was thrown with (20 m/s) initial velocity at (30 )above - th ﬁ‘Jﬁ""‘ﬂ AR B
< heightis: [ 21m - 3lm - 4lm - [ i
& . A . ) \, ” B
S Ry B T TR
: " e b
¢ ,.//9)\4\?\ e .
/A dog has mass 15 kg the welght of dog is 4y
[127N - 137N @ 157N ] N
w‘éw:wgﬂmxa&nw;f{\/ . ~ (3
* ¥ The coefficient of the static! ﬁlcnon,ps has a unit : Y Lp, Y —J

[ Newton LT Joule - kg ) ]

/ The correct relatﬁon bet\)/een the coefficient of static and kinetic friction
y .< pk - @ - none of above]

/ Which o,ﬁ{.he foﬂp;wmg could be coefficient of static friction ps sl i:jg,"u::)f
[,]If!)r,lN - 01W - Olcm - @ Lbosdbis

* Whichiiof the following could be a force

[ 100 m - 100 W = 100 m/s west - ]

------------- - Seim o e o

/If an object is in equnh&-num state so the surm of the forces which acting on it is

[ 98 - (zero) - -9.8 = all the above are correct
-------------- o g ' ) :
* A If the bodymoves with constant velocity so the forces on it is ‘
a- the Weight of the body b-( zero c- the reaction force d- the frictional force
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S Tl ,. SmA Ut W TR TUE mm cm e o e o . . : cad g =3
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e G \ . Jo
/" “All of the followmg are forces except

S,

. [ friction - tension - ork - nuclear ]
* The unit of force in SI is :

' [ Newton -  meter - gram - second - none |
/A Newton is - '

. [ 1kg/s - lkgxmis - '@ - lkgxm%/s - lkgxm?¥s*]
,, * The Kkinetic friction for a body of mass 1 kg (m=08)is " “ﬂ Il
IFD [ 0.7 Newton - 7,8 Newton - - 0.7 joule - le“l

A Fe = ¥ o i é"ﬂ‘g Rl M- 3 g~ Fg A ”"‘d“#}

" * The force acting on a body 0f 5 kg rnass is (3 x+4y ) N the magthde of the“J

. acceleration of the body is : [( 1 m/s’) 2 Om/ss - 2. 5 mﬁs%“! - l'3.0 m/s? ]
4 A = EF - l/_?l“f'—f-f—- - ’ - J

L = E" s !

* * An object is pulled to the rlght with a force of 10 N and to the left w1th force of 15 N the
“ net foree on the object is

" A) 25 Nto the left b) 25N to-the right,,, i ,c) 5 N to the left d) 5 N to the right
- l| h i e

:' iF: [5 — /Ca = 5—/-‘/ j_e/_?’l_ J\O’ _)ZJ}(/“LS‘J/J,..)J*/

’ _ M

* * Three force acting on a body ‘l_:“. = :62; + 2y + 52 17“; =2x +y - 5z

: Fy =4x+ 3y The magnitude of net force ( ’ Fne ) is

. [3N 4N - SN - (6N) ]

$F: 695 yeme o ni

2 T f “.;. L . LT
Y * Three forceactmgonabodyonSkg Fi =3x+2y+8 F =2x+y+ 2z
; 3f__f3 =..5x+ 4y - 10z The magmtude Qéthgﬂﬁ@,a ]) is

] ik19m/s - 091m/sT - (028m/s™) - 0.07m/st ]

.Hnin 1 -

catF My V4 ; p & e dlmna) F
- = T — - o 7 m

) 185 ~ Ts ~

S . =%
+  * when tHenlass of body detease its acce(_ ration after applying the force is

[ decrease - dncrease) 5 Non ] & Jball ol AL <8 1)
*Two fore F) = -3x-5y+20z Fp= 3x+5y+ 10zacton a 30 kg block
The magyijtude of the acceleration
Of the block is [ Im/s> - - 2m/s® - 3w/ - 4myst ]
ZF=F +F,=0+0+30%X 30° = 30 :dall
_ XF _ 30 _ 2
a= — = — = 1m/s
m 30
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=" Newton first law of motion state that : Cr (oo i a0y
* a- body move with high speed £b- no force on body no acceleration
o body at rest remain at movement all time d- all of the above

/ “ . N T g _‘ rd
7 ¥ Newton's third law of motion state that : TR Ay b

. the net force act on a body is equal to the product of the body's mass and its acceleration
%b- Two bodies interact the force on the bodies are equal in magnitude and opposite in

« direction ¢~ If no net force acts on body the body cannot accelerate

+ d- All of the above

.
LY

‘ !.. T R ‘. ' . W \:J ] a .’ L i3t
“x Newton's third law of motion state that : 1= T ”‘f““
- Y| .

+

- - - - : i g 4 '
[ - - Ra=FR, - F -F - Nonéimgﬁlg‘above ]
* - S M st i L}T, J:: =
LZ')* The net force act on a body is equal to the product of the body's m_i“ssjﬂ;aq its i el ,,:’::
. \acceleration This is [ Newton 's first law - Newtan's se¢ond law
R L ——
* The inertia of a body tends to cause the body to : A 2 Dy L
.- a- speedup - b- slowdown  ,_~c- resist any change in its motion
d- fall toward the earth i e- decelerate due to friction

ELTTIRY:

l—.”

. "
* * The term '"'mass" refers to the same physical concept as :
[ weight - inertia - force - acceleration - volume ]

* An object moving at constant velocity in-an inertial frame must - .
a- have anet force on it ' b- eventually stop due to gravity

c- not have any force of grayity acting on it /C)fdf have zero net force acting on it
1% The inertial refent‘anchéfﬁ'%glle 3
* , A body applyir’erlNewﬁ?ﬁ"ghlaw of motion b- body do not applying Newton's law
“ RUTHE H, o
- ; Tt ~ : g—LAD # ) o
* Mass differs fro Weight in that ™/ ok b ! EPRVIESLS NI c3? i yy))
a- all objectsii-ﬁgve' weight but some lack mass b- weight is a force and mass is not
c- the mai§diof an &fject is always more than its weight
d- mass c'agrgghly be expressed in the metric system e- there is no difference
e - - T e nm A ——
- 'Wb\z,'«;)ﬁ_&t_bﬂ

«»% Acceléiafion is a always in the direction

+ [ ofthe djsplacement - of'the initial velocity - of the final velocity
@ - opposite to the friction force ]

-------------------------- BT =

* The normal force is the force due to ' e_l) \Pb'” \
- . - - . - I

a- the friction force its direction west ¢b- the surface force its direction up ward

c- the wejght of the body it direction upward d- none of them

* The forgeis [ scalar - : magnitude - none ]

-)L)\
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R TR TR T T BT R T e et gy v e g e - - .
* i . . L - EA “ r' RUTAT T TR @ == < g - & R L R L) .- e
E, a2 ] a0 d . = fe v E i

/ * /}block m = 3.0- kg Which slides down a frictionless plane ha-ving an in clination of <
15 the acceleration of the block is [ 57 - . 25 - 62 - 36 ]

——

* At wood machine * mg = 10 kg my =5 kg find accelerétioﬁ?_ ]\
I

mz—m‘xg=10_5x9.8 =32m/s® :dall -

- a=

g mytm, 105

; ' .(v;'\ \ g,

. | 2190 e (L ) o gyl §

. What tension - ~ T= At 7 ,,,-';?Ej_:';r }?%“

L T = m: ( g + a ) = 5 ( 9.8 + 3.2 Jl‘m 1:1'5:- 4 : Ll:-“'

i

* A box of mass 50 kg is placed on an incline as shown in the ﬁgure"-z‘ilﬂrrce"F. is exerted

s on of the box it moves frictionless [ a =4 m/s’ | What-magnitude force [ F] E
P [ - 312.8 N - 1:| L . A“’

+ . 4128N - 5128N ] , g

K A l‘l‘. 50 X L‘

p— 3 F | P
@ p C OS 6 = A = I::F = m - E:—'i—; - 211 g (\]
: T,

* A mass m; = 10kg on a frictioniless inclined plane is attached to a light sot‘rimg

The plane is at an angle e = 3q° abbx’{ig'ﬁie /Porizontal m; moves up with 1m/s’
igf fS.'EI'iHé'? A e,

JE—

What is the tension on the Ilié'Hﬁ
m; = ’Oikg .!"'.;:’:i;-.gﬂ:= llI].’l/S2 g= 9.8

g NN

T=mja+migsine=(10x 1)+ (10x 9.8 x sinJ:59 N

f“ii"!i,; "f:,l

* Two prgéﬁgasses over a pulley , and tension force in the wire T = 53.7 N What is the "5
Acceleli’zili'tion for any box ? [ 14m/s® - 24 m/s? - 34w/’ - 4.4 m/sT]
; T=53.7N m, =5kg m=10  g=9.8 m/s’ o = 40
sdall

T —mgsi - : i
mg sm@__ 53.7—(5x9.8x sin40 = 4.44 e

a= {.A‘ “
S — 7
Alds a= m2g -mlgsind _ 10x9.8—(5x9.83in@_0§) = 4.4 m/s? m\‘!-
ml + m?2 5+10 ’ ye :f‘_-;
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TR TR R TR e g

N

= _ 2ok
= 10kg  m, =20kg find tension force and acceleration o 1 _)
. T a=7? 7 - T=7?
LS - .. 20X5.% 2
(__23_) = o & = 0, s |
Smy+my . L 20+10 J = ESmis” gk

a ) MPA

«  T=g (MM ) -gg( 1%20. = 65N 2

g ( P ) _ v .

e ) ’ B o J I}

* . S Pt ' i

, * In fig what velocity J‘_—_'f sEL e i ﬁb““

. r:«%ﬁl R

. | & Q)J )

fe ’ . I an~

. od WL = s<+- = ?Agﬂ\ﬁ,ydu - Fait ‘

. "‘ o - \ .. ;E;?

L3 v Y aes vermer 0

.J‘”"-"*“"—ﬂ (/’L‘\Lr'\lZ‘xqq;rlaf-'l‘#’H/f L

*  * A ball m is released from-point (A) witha speed V, =10-m/s and it moves on

= hat is the speed Vp at point (B) ?

the friction less track , using energy- conservation' yha is P 463/ ]

Cpue3mis - 26ms - Rfms - 907

A -

V2 o=y +2g(h—h) . g e k72

: 2

. A =(10)*+2x 9.8~ 32) 5 .

» v =135,28

V= \/135.28 =11.63 rn/s

. * A box moves horlzontalkl; frxc,honless in right direction with velocity v = 2 m/s as shown

. in the figure What is tot’al,power [ Swatt - 10watt - 20watt - 25 watt ]

J&ﬁ g,)p)"‘:—"‘ ' | | =y dFjlg

. XF =50 cos! 60— 15 10 s 2@ Y1 4 yall 330 4

* Wi : ‘ _ [’1 -15A

© poziv = k2 =20 watt l

. » - Fy=1len

“ * Abox moves horizontally frictionless in right direction with displacementd =5 m  as

“  shown in the figure What is the total work done -

. Where (F;=40N ( F,=10N{8=60°)

T =T - = . = Jall

| IF =Ticos@ - I 40 cos 60 - 10 = 10 B et /F o

« W=ZXF.d=10x5=50J = L AbS :
- — ] :

:' 3 i'b M—\’-——( A__-___!;_/——'I
iﬁa qvf;fl;f ToX =2 € Chah Qe gk Ve oD 7 oys 6y T 45,
Qfdw = K{ Hg-m?(w 3 qu“_v:ﬂKm; H2w. s T e
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. . ab=2x—3y b =4 x+2y
_, . a.b=8-6=2 -]l
[a] = 27+3 = 36 [bl= Ja527 = 45
2 o e = -l = -l 2 = 9%
;. (|o.” bl cos’ ( 3eaz ) - B2
-_-_--&-‘-’i,) o?'ﬂb y *;z) S _|

z/ Apoﬁall energy give u= x*y’ + xy* find foréeat (1,1) m ' :
F=-% 0% %2xy’+y) el

@ da B | ar

i T = 2 2 + 2 =‘é‘. 2 2 ]
L a9 ¥ x yX—=> F = ﬂ2xy +v*] x+(3y xiz ﬂjiﬂy
- : F=-[(2 +1)x+(3+2)y] _.,__m/‘#q " r
F=-3x-5y F = \/1.+52 =N

C = 2x + 6y Find (’AﬁHB") c

< xA=2x+dy , B=dx+5y
4 S A+B-—5x+‘3’[u*'

o e (A+B).C=10+54=64
. *A=S ) B =10 , angle AandB © = 60 Find AR
| Q.D\——j ""EA,.:B = 5x 10 cos60 = 25
[

: /*/A ball of mass 2 kg released from re’s*t’ from peint A then slides down a friction less
2) the speed of ball at point C

* surface calculate 1) The speed of'the, ball at Point B
s . 1 > Va:o .
, @ ® 5 - Yy +2g(hgohg) = at 2598 (-1 o
(9.6 = V= 19 24 A~ s
e <EyD 1

el Vc,l/ + 2 3G, ) a4 2898(2-0) 2052
- Ve =39 - 1.'9-=; %g r_;ﬁr.--l im J/ s =T

! as L SN L_,l,p,@\.\,‘y

* All of the fo}low1ﬂgare work unit except

({lhie;, i;g;.{]_‘l, _
. i I- Q : MLGJ‘ C;‘Lﬂy_"‘)_" _

; 1, -i-;!

¥ it

_"' Ha, e NOI‘ma] FQrCﬁ (FV) ;té)_’.a:" E_,g“ 2 >="y |
" 1o :6 D’/l] .

s iy . —" l IM

Normal force :
Fy = mg—-Fsin © Fn = mgcos § Fy = mg

th force [F Net] =m g sin ['l

SN<Eal JJAJU.‘SEJL.&]!&_LLE\D!

E‘=gSilfIQ-ucos @

3
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Tension 2301 5.8 calla 13) - A |
accelerationg Judl Gl 13 -
_ T -migsiné |

_ Me g —mlgsing
ml+m'i

i
3
ml

p 32015 oY Y

L =m_,::2g. = .Tensio

mZHM e (0% rough) Sl St

ﬁQ 7 r 7
v ; % '(//M < o < / ol
. |a= ZCZX g acceleration g bl ) L, e
= mem - L
Tension = T= my (gta) aall Y o _T_[H -
?;.J’J)‘ g § ¥ N sy )
wws =GR N i
- T & ma 4 F
T=ma D"ﬁ_‘, F= cosd
b A
(3) F Net = m g cos ©
Bl F T
KY
[——I"“' Fi
Grmma T , = FleosO+r2| T2 gy o F14F)
m ml+ml
= mpa + mag _51 - FN =-g(ml+m2)
Q A Fret=meve
T R3 Ky and vela @ity Uz X v55 find Rinet e Enedy: Dlgéept
N L Uz vgrra = 6yl = K )(ry3= 61 5a
— :
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. * A persou pushes the left most box trough
Wlt}é a force 320 N the box accelerate to the rlght at 8 m/s ‘L) What the mass M of the
middle box ? [ 7kg . kg T3 ke 562 21 kg ]
+ Jdadl

F_n:)na“bno (12+7+M)8
’ 5 = 19+M 40=19+M M = 40-19 = 21kg

_,KZZ) What the force by the middle on the left most box\
5 gall |
. [ 153N - 224 N - 253N - 289 N ] F12 55l
« 320 -F21 = mja=» 320 - F21 = 12(8) rdal
+320 - F21 = 96 = F21 =320 - 96 =

ﬂ_/If no external force are acting on a moving bk ct will ) L "
[ continue moving the same velocity ] T, de_ull Quity o Ty BOT R

¥ The two measurements necessary for calculatmg avep
[ distance and acceleration 'té. ), distance a8

o
* A horse run distance of 10 km in time 30 mn%‘s avera
20 km/ - e

= [ 15km/h
X - AX 30min= %h :
* Vavg AT Aasr )X = {/‘q

e speed of ,/; e |

GV
mﬁg& than 100 m/s ]

* Twelve second after st

- e, : Jadl
: g ot 0m - 5m- 2m]
- * Starting from rest the dlsta m Sm
- py = that = % G () ] S
:/ "-/—5: (10 N ) falling object enconcounters 4 Neaf air redistance the net force Yo
fFNet-IO 4 = 6N d:JI ¢34N - ION - (6N) ] Lo
2 [ Y AN b
23 (&g k__.—-«‘i

ﬂ W - S ;- k:
* Whenever thé net force on-ax ro 1ts acceleration
’ may be more than zero ]

: is zero ) ] | :.
/‘? [C% q):’/ e LK / :‘
///The kinefic energy of a 8. OO kg par'tlcle is 100 J find its velocity ? —

10.5 m/s - 8.00 m/s - 5.00 m/s - 10.0m/s
ﬁ CmVie=y Vo= /21( 2x10 . Jal
. ¥ If a car accelerates form rest at 2 meters per second per second its speed 3 seconds later
» will be about [ 2m/s - 6m/s - 4m/s - 3m/s ]
dall

V=at=2x3=6 m/s
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el o
T : sy s P
ATORTATTATITI TAT T T TS TR TR TR AT T AT - !

¥ 5? o= Lamls ™ _—g/ s,
+ A tow truck exerts a force of 3000 N on a car accclerating it at 2 meters per second per

second What is the mass of the car ? -
[ 1500 kg - 500kg - 1000kg - 3000kg - ~ nome of these ]

Lot t
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F =ma_> m = 3_90_0 = 1500 kg :dad
____________ ~ }_ A : T *
Bonus : A variable force is applied on an object the force versus position (x) is shown in the
figure (here right ) (At x=4.00m  F =5.00 N and at x = 7.00 m F—--SOON)
SN O NPT p
. 1) What is the work done by the force between x = 0. 00 m and x =2. 00 m ? -
- (10J .- 8001 - 750y - 8501} :
:)) What is the work done by the force betweern i
. IOOJﬁ w2007 - 2501 - 8 :
) W a under graph :dJdad ' y
& &Lu_)\}\ % saclall. I = L".:.\:\Al\ dalue = % x2x10 = 3
~ 7) area under rgrap = 4x2 'yJ L W AFEEEE h—k
. | | = | dalow ; 4k Y, EHEE N, s
pal X bl = e - iy, AR 334 s G\ “dow)
U ARG P
" ameee N =T T '.}: '«J_, - > s ::; / '--.: ---------- »
* Sarah travels 57T m ésf and then travels 3‘49 psouth/y _. '_’lsplacemen;_ o g
A d == 572 +342 = 66 m :.‘.J-“ . (J-:.“ ’ '..\ -‘"V 1\{?{"% ’ \ - . i
_’____________________;__________"E’,fi ﬁf’«ﬁxg,_ _ 2300 SR e m e mmma s S e ST
« ¥ An object is propelled as r%ﬁ/ — line by a force if the ne¥ ‘rc*@ere doub:led the objjact s" "
: Idb 'four t1m i b i " - the same '
acceleration wou € [’ Tl s i Lo 5 i) 4 ] gt
Fronn o i J
__________ i AN : °" ;
* Imagme a car travels 10 m nort m west,a _,”Jz%s@m south final goes 10 m east
What dlsplace ment . [ 4m Om - 20m ] r" 1‘
FO/’DLWWW\ - D c,u})..)\ \w"-‘J a2y
----- 3 \-£9:4);r— = I = eV
* The force friction 10 N the app o maintain contestant velocity is »
[ less than 10N - mor tha: 5 10N ] —_— >
piz ¥ %bc}dlwlS\JiP;ﬂubﬁo_,aulA\-_ngS._\;Ylo)h_u\SL\l 5
2% If no external force tem 1- movmg same velocnty 2— acceleratlon = Zero
_______ &. —-— \-----—---------_--.7‘{:- e e e e e o 20 e e e i S b e
* Acceleration equals the changein .......... per unit of time
L [ ldlsplaccment - distance - velocity 7 - speed ]
— 1. . 7‘4?7;" I - - R SO - -
- * velocity is the change in .......... per unit of time
[ displacement - distance - velocity - speed ]
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